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INSTRUCTIONS

Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will himself be responsible for filling wrong Roll No.

2. At the start of the examination, before attempting the
question paper kindly check your test booklet and O.M.R.
Answer Sheet and ensure that:

*  The serial numbers of test booklet and O.M.R. answer sheet
are same.
= All pages of test booklet and O.M.R. answer sheet are
properly printed. All questions from S. No. 1 to last S. No. 150
are printed and pages from S. No. 1 to last S. No. 24 are there
in the question booklet.
In case of any discrepancy/defect the candidate should
immediately report the matter to the invigilator for replacement of
test booklet and O.M.R answer sheet. No claim/objection in this
regard will be entertained after five minutes of start of examination.
Candidate will be liable for it.
3.  Answer all questions.
4 All questions carry equal marks.
5.  Only one answer is to be given for each question.
6 If more than one answers are marked, it would be treated as
wrong answer.

N

There is no Negative marking.

8. Each question has four alternative responses marked serially
as (A), (B), (C), (D). Candidate has to darken only one circle
or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

9. Use of Mobile Phone/ Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per
rule.

10. If there is any sort of ambiguity/mistake either of printing or
factual nature in Hindi and English version of the question,
the English version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.I.R. would be lodged
against him/her in the Police Station and he/she would be liable to
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
him/her permanently from all future examinations of the Board.
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Jubilee celebration of Queen Victoria?
(A) Vijay Singh (B) Kalyan Singh
(C) Jaswant Singh (D) Pratap Singh

With reference to the Indian freedom struggle, 2.

which one of the following is correct

chronological order of the given events?

(A) Surat Split of Congress - Lucknow Pact -
Partition of Bengal

(B) Partition of Bengal - Surat Split of Congress
- Lucknow Pact

(C) Partition of Bengal - Lucknow Pact - Surat
Split of Congress

(D) Surat Split of Congress - Partition of Bengal
- Lucknow Pact

Match List-l1 with List-Il and select the correct 3.

answer by using the code given below -
List—1
A) Nana Saheb
B) Bahadur Shah Zafar
C) Laxmi Bai
D)Tatya Tope
List -1l
(i) Killed in Battle
(ii) Deported to Rangoon
(iii) Captured and executed
(iv) Fled to Nepal
Code -
(A) A-(ii), B-(i), C-(iii), D-(iv)
(B) A-(iv), B-(ii), C-(i), D-(iii)
(C) A-(i), B-(ii), C-(iii), D-(iv)
(D) A-(jii), B-(iv), C-(ii), D~(i)

(
(
(
(

In which year ‘Rajasthan Seva Sangh’ was 4.
transferred to Ajmer?

(A) 1918 (B) 1919

(©) 1920 (D) 1921

In the reign of which ruler of Alwar, 5.

Neemuchana incident took place?

(A) Maharaja Fateh  (B) Maharaja Banne

H [dh¥H giclUs HOIT TYT7

(A) fasra g (B) wearr g

(C) STad g (D) gam Rig

ARAR Wd=ar U™ & Ged H, =forRaa

J &) TS geARN BT BT Blolhd Tl 872

(A) ST BT A 9o — G FHsi ]
— §ITd BT oo

(B) SITET T AT — I BT R [T
— TGS AHSIT

©) gl BT fauToE — AwHS; AFE T —
BT BT JR IS

(D) HIUHF BT TR IS — ST BT faTaT
— TS, AHSIT

A BT G-Il A FGAferd IR @ik i Ry

MY HE P IUAN PR Fel IR Gy —
=~

(A) =TT H18d

(B) 98ISR 2TE SHY

(C) wiex ar1g

(D) 4T <Y

-

() 3& ¥ AR 7Y /g

(ii) S Faiya

(iii) Tps foram ok AT & e SART

(iv) =TaTel | Y /9T

E'?;\? J—

(A) A-(ii), B-(i), C-(iii), D-(iv)

(B) A-(iv), B-(ii), C-(i), D-(iii)

(C) A-(i), B-(ii), C-(iii), D-(iv)

(D) A-(iii), B-(iv), C-(ii), D-(i)

oo 9 ORI AT FY' BT RATHIART 31T

garr?

(A) 1918 (B) 1919

(C) 1920 (D) 1921

JAR & [hd UAd & FHI AT Bie
garr?

(A) FERTST Bag Rig (B) #eRT 9+ Rig

Singh Singh _ _
(C) Maharaja Vijay (D) Maharaja Jai Singh (C) wewre fasra Rig (D) werrem S/ e
Singh
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the Chairmanship of Jawaharlal Nehru?
(A) Udaipur (B) Jaipur
(C) Jodhpur (D) Ajmer

STTANSTAT B3TT AT?

(A) SeIxR
(C) SireTgR

(B) SR
(D) 3T#R

7. Under whose leadership, more than 10,000 Jat 7. fpEd g W, YWEE! fBEE AR H
women participated in the Shekhawati Kisan 10,000 & 3fp e Afgei F W
Andolan? forar?

(A) Uttama Devi (B) Kishori Devi (A) ST <Y (B) fpemey <t
(C) Ram Devi (D) Durga Devi Sharma (C) ¥ (D) gt <t v

8. ‘Mewar Ki Pukar’ 21 points demand letter was 8. Hare @ UYHR 21 G HUF BT AR
related to - forasy om?

(A) Sadhu Sitaram Das (B) Vijay Singh Pathik (R) 91y HiaR™ <= (B) faora Rig ufdres
(C) Moti Lal Tejawat (D) Manikya Lal Verma (C) HArcfielTel dotrad (D) AIfoTeR ofTel a1

9. Maulvi Liagat Ali, who played a significant role 9. Hied! forared srell, [T 1857 & wq=dr
during the Freedom struggle of 1857, belonged WM @& IRME "Ewqul e A,
to which of the following cities? f=ferRad & 9 frw oeR & Gefdrd o7
(A) Lucknow (B) Faizabad (A) TTEAS (B) BWIETE
(C) Bareilly (D) Allahabad (C) sxel (D) STTEETS

10. R.G. Bhandarkar and Atmaram Pandurang  10- &R, ofl. 9USR&X R IHARM YOG
were associated with which of the following fforRaa & 9 foa dverm 9 dag 97
organisation? (A) EFSa <t (B) 3 g T
(A) Home Rule League (B) Atmiya Sabha
(C) Ramkrishna (D) Prathna Sabha (C) T fiyer (D) yref=T AT

Mission

11. Which Princely State of Rajasthan has given 1. JoreE @1 fd Ramad ok faow U 9
protection to Blue Pottery and especially by B I o Qj\tﬁéﬁ DI G fegr?
which ruler? (A) SR, Tar$ ya Rie
(A) Jaipur, Sawai Pratap Singh B .

(B) Jaipur, Sawai Ram Singh Il (B) SrargR, et e Il E
(C) Mewar, Maharana Fateh Singh © 5, TR T ﬁﬁ‘r_ —a-
(D) Mewar, Maharana Sajjan Singh (D) #aTs, HERTT Aourd Rig

12 Pprithviraj’s “12 Khambo Ki Chatri” is situated in ~ 12- gedRTa1 &1 12 @l &1 waw F=ileiRad |
which of the following forts? 3 foa foar # Rerg 87
(A) Mehrangarh Fort  (B) Gogunda Fort (A) T Te oot (B) TR fhed
(C) Chittorgarh Fort (D) Kumbhalgarh Fort (C) feritsTTe foha (D) f¥eTTe fobed

13. The ‘Kathodi’ tribe is mainly found in which of 13- ‘@Al SN ge=ga: fba el # uril SITed
the following district? g7
(A) Dungarpur (B) Banswara (A) SRYR H (B) gigarsT |
(C) Udaipur (D) Kota (C) STIR H (D) ®rer #
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which musical instrument?

g7

(A) Kamaycha (B) Sitar (A) pHRI=T (B) RrarR
(C) sarangi (D) Tabla (C) I=7f (D) derelr

15. Jai Singh — Il did not built an observatory at 15. Saf¥e fadm 9 =9 § 9 foh STTe deremmen
which of the following places? 8l garg?
(A) Delhi (B) Agra (A) feeelT (B) 31T
(C) Mathura (D) Ujjain (C) mer1 (D) oA

16. Where is the ‘Rupayan Sansthan’ located? 16. wURE WX dal Rerd 87
(A) Borunda (B) Bagru (A) gro=eT (B) 't
(C) Badnore (D) Bundi (C) geAR (D) g1

17. The historical place ‘Jabalipur’ is identified in ~ 17- UfdeRie e SEIfqR’ @1 YFd ggam
modern times as - g -
(A) Jalore (B) Sirohi (A) TR (B) RET
(C) Nagaur (D) Jaisalmer (C) AT (D) SR

18. Which of the following (Local Deity - Main 18. aefifelRad (el <gar — R <) 4 9
Pilgrimage Site) is not correctly matched? PIT JTH IR 27
(A) Tejaji - Parbatsar (Nagaur) . (A) TSI — IREAWR (AFIR)
(B) Devnarayan Ji - Asind (Bhilwara) ﬁ (B) TaIRMVT S — 3MRilg (MerarsT)
(C) Pabuiji - Kolu Village (Phalodi) (C) UrgsSi — Pie] 71 (walral)
(D) Tallinath Ji - Katriyasar (Bikaner) (D) Teei T Sl — HARIRR (TTHTR)

19. ‘Godawadi dialect’ is spoken in which one of 19. f=faRad & g va fSTel & ‘TIisars! sTell
the following districts? qrefl STl 87
(A) Jalore (B) Jaisalmer (A) SR (B) SIRATR
(C) Dungarpur (D) Ajmer (C) SIRYR (D) aroT™R

20. For the promotion of Arts, in 1857 AD, 20. FHomRll @ UIATed & fofv, 1857 3. H, "HERIGT
‘Maharaja School of Arts and Crafts’ was Thl 3h ACH UUS HIUcH Bl RATUAT Bl
established by - off —
(A) Sawai Jai Singh (B) Sawai Ram Singh I (A) wars 5 Rig 5 (B) |arg v\ Rig 1l A
(C) sawai Madho (D) sawai Pratap Singh (C) WaTs ey Rig | ¥ (D) waTE ya™ RiE I

Singh |

21. |n which school of painting of Rajasthan 21. 3oreE @ foa o Al | TIRAT @1 RieR
women are portrayed as hunters? B gU T T 'Y
(A) Bikaner (B) Jaipur (A) drpTR (B) STIgR
(C) Kota (D) Alwar (C) I (D) 3rcTaR
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23.

24.

25.

26.

27.

28.

In 1956, Tor her active participation in Bhoodan

and Kup Daan programmes?

(A) Ratan Shastri (B) Anjana Devi
Choudhary

(D) Narayani Devi
Varma

Who built the Rangmahal in Bundi, which is

adorned with beautiful mural paintings?

(A) Rao Ratan Singh  (B) Rao Surjan Singh

(C) Rao Chhatrasal (D) Maharao Buddha

Singh

Sort out the incompatible pair

Literature and Author -

(A) Raj Prakash — Kishordas

(B) Pabu Prakash — Modiji Ashiya

(C) Amarsaar — Pt. Jivadhar

(D) Raj Vallabh — Maharana Kumbha

The world famous Janki Lal Bhand is related to

which folk play?

(A) Rammat (B) Swang

(C) Nautanki (D) Khayal

With which occasion is ‘Mor-Bandhiya’ custom,

related to Garasia tribe, associated?

(A) Birth (B) Marriage

(C) Engagement (D) Divorce

Where is the tradition of organising the famous

‘Nahar Dance’ prevalent, since the time of

Mughal Emperor Shah Jahan?

(A) Chomu (B) Chaksu

(C) Mandal (D) Kishangarh

Who established the Chamunda Mata temple,

situated at Mehrangarh Fort?

(C) Janki Devi Bajaj

between

23.

24.

25.

26.

27.

28.

9 1956 H, UgH faquor | AW fdhar?

(A) 3T 2 (B) ST <l =Ty
(C) ST <t gofrel (D) ARTION <l g1
481 Rerd wWed, ot gex MRiEl 9
JARSId 2, T avamar?

(A) 31 39 Rig (B) 319 g Rig
(C) 19 BT (D) weRTE ggiie

A2 Ud AR & g H W G
(C) 3FRER — . SR

Bifey —
(D) ITSTdeety — HERTUM R

(A) ITSTURTET — fheTRETH
(B) UTq UHT — HAISSIl AR

IR WR W S UT SHdIeATd HiS
BT T fha Al 1T 9 87

(A) ¥=d (B) it

(C) e (D) =TT

TRIRTAT ST § JR gfrr iy Rarsy, fea
3R T ol 27

(A) ST (B) faarg

(C) TS (D) TTH

qTel HHIC WTESel & A9 9 & URig e}
T & ARG Pl URART, BBl Faferd o7

(A) =g (B) =manyg
(C) ATvEd (D) ferre

Fere g # Rerd =muer war Afer @
MU fha o1 &?

(A) Rao Kalyanmal (B) Rao Jodha (A) 19 HITIHA (B) Xma ST
(C) Maharaj Ajit Singh (D) Durgadas (C) #BRIST 3rofia R¥g (D) gariard
29. |n Mewar state the ‘Mahkama Khas' was 29. yqre VST H OHERAT W Bl AYAT Bl
established by - off —
(A) Maharana (B) Maharana Ajit (A) wrgRToT 2wy g < (B) weRTON 36l R
Shambhu Singh Singh Bl
(C) Maharana Ganga (D) Maharana Sajjan (C) weRTom 7T Rig =¥ (D) HERIOM Foord g
Singh Singh Bl
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(C) Bharatpur (D) Alwar

(C) wRAR H (D) 3reteR H

31. Which of the following pairs is not correctly 3. fAfoRag § ¥ ST I el gHferd T8l
matched? 27
(A) Ub Chhath-Bhadrapad Krishna Paksh (A) HIBS—AEUS FOT e T
Shashthi . N (B) ToriR—35 e S -
(B) Gangaur-Chaitra Shukla Tritiya <
(C) Ghudla-Shravana Shukla Tritiya (C) goeT—5ravT et Jeir
(D) Fuldol-Chaitra Krishna Pratipada (D) TeTSTei—a= HT YfueT
32. Who is the famous author of ‘Bhartiya Prachin 2. YR y=  faftmer & ufig ows
Lipimala’? g —
(A) Ramkaran Asopa (B) Bishweshwar Nath (A) ITTHIT AT (B) Rrodvareer ¥
Reu Sy 5
(C) Muni Jin Vijay (D) Gaurishankar (G} 3 Tor 1o ®) -
Hirachand Ojha
33. To which sect did Sahajo Bai belong? 33. FEl 918 BT Hay fod JusT |9 87
(A) Ramsnehi (B) Laldasi (A) TR (B) Srerar=dl
(C) Alakhdasi (D) Charandasi (C) rerEaRiY (D) TRUTGTAT
34. Which of the following pair (Ancient region - 34. JeifaiRad § | AT g (IS SEd —
Modern district/districts) is not correctly 3“%[.\“*7 SEIASSIRSED Qjﬁ‘i%ﬁ T8] &?
r:atched? o (A) 3T TI-RRE
EB; Arl.:nfd D.esh—Slrohl . E (B) R, SR
Shivi-Chittorgarh, Udaipur L
(C) Sapadalaksha-Ajmer, Nagaur © quq“&i_&\’w_{' IR
(D) vagad-Sikar, Jhunjhunu (D) arTS—3hY, YL
35. shrilal Joshi was associated with - 35. sieTTel SIS T AFIweT o —
(A) Phad Painting (B) Sculpture (A) ws oo 9 (B) i e |
(C) Thewa Art (D) Terracotta (C) a1 FHall | (D) Fyo1 RRrey ¥
36. Match List-l with List-Il and select the correct ~ 36- JdAi-I & Tl F FATT BT AR Gl
answer using the code given below the ® I feu v DS Pl TINT B A8l SN
lists — g —
List—1 List — Il T -1 ||
(Power plant) (State) (fogga |3=) )
(a) Satpura (1) Maharashtra (a) FAYST (1) HERTE
(b) Dhuvaran (2) Uttarakhand (b) gax (2) STRIES
(c) Tanakpur (3) Gujarat (c) TTPYR (3) ORI
(d) Dabhol (4) Madhya Pradesh (d) ST (4) 7T
Code - he —
(A) a-1,b-3,c-2,d-4 (B) a-4,b-3,c-2,d-1 (A) a-1,b-3,c-2,d-4 (B) a-4,b-3, c-2, d-1
(C) a-1,b-2,¢-3,d-4 (D) a-4,b-2,¢-3,d-1 (C) a-1,b-2,¢c-3,d-4 (D) a-4,b-2, c-3, d-1
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year -

(A) 1976 (B) 1961 (A) 1976 (B) 1961
(C) 1978 (D) 1982 (C) 1978 (D) 1982
38. As per Indian Meteorological Department, a 38. wR #H 9T & AR, ofd CIEEZRCE]
severe drought occurs when the deficiency of BT BHH ATERT TI T o AP B T,
rainfall exceeds................. of the normal rainfall. q9 yave gu o Rfa gt 2|
(A) 20% (B) 25% (A) 20% (B) 25%
(C) 50% (D) 40% (C) 50% (D) 40%
39. Which one of the following areas in India, is a 39. qRg # f=feRad & 9 19T & Wafafderd
hotspot of biodiversity? BT Bledic 87
(A) Gangetic Plains  (B) Eastern Coast (A) 79T & HaH (B) gdt @e
(C) Western Ghats (D) Eastern Ghats (C) gl =re (D) gdi =1
40. Which is the leading producing state of 40. IR PT FaAIfH SATGH o BT 87
Rubber?
(A) Tamil Nadu (B) Kerala (CVISIGEEIS] (B) &xe
(C) Karnataka (D) Telangana (C) FAle®d (D) qeAvTT=IT
41. Aman, Aus and Boro are related with which 41. g9, i dam IRI b ®ad W AR
crop? g7
(A) Wheat (B) Rice (A) 1% (B) =raet
(C) Sugarcane (D) Tea (C) =11 (D) =y
42. Barren and Narcondam are - 42. A qAT TRPITSH & —
(A) Rivers in India (A) YT # Afedt .
(B) Volcanoes in India (B) WRd H AT E
(C) Agriculture type in India (C) YRA H PfY UPHR
(D) Types of mountain vegetation in India (D) YRA H T g Rufd &1 IBR
43. The highest point of the Meghalaya Plateau is - 43. AT UBR &I Hared g /RRaR 8 —
(A) Garo Hills (B) Jaintia Hills (A) TTRT geTfSAt (B) Sferam ugTfedt
(C) Mikir Hills (D) Shillong (C) HfaR yeifeat (D) RretioT
44. The shortest (in length) National Highway in 44. YR H 999 BICl (T3 H) IR IASHAN
India is - g -
(A) NH 966 B (B) NH 44 (A) NH 966 B (B) NH 44
(C) NH127 A (D) NH 548 (C) NH127 A (D) NH 548
45. Which of the following river flows in Rift 45. fa=forRad # 9 ®I=Ril 9<) Rue a1l # g 8t
Valley? g7
(A) Narmada (B) Ganga (A) HeT (B) 1T
(C) satluj (D) Godavari (C) wds (D) TreTaRy
1310 @ Page 7 of 24



tounar
(A) Jaisalmer and Bikaner

(B) Ganganagar and Hanumangarh
(C) Barmer, Jalore and Jodhpur
(D) Jaipur, Dausa and Tonk

(A) IFT™R 3N BTN

(B) TR 3R FIATFIIS
(C) IIeR, TR 3R SIEYR

(D) STIYR, TRAT 3IR <l

47. Shyampura and Bhat canals are related with - 47. HQRT 3R WIe T8 FHEd § —
(A) Jaisamand Lake  (B) Mahi River (A) ST T 9 (B) ATE) 94 9
(C) Kota Barrage (D) Narmada Canal (C) BreT &R A (D) HeT &R ¥
48. |n which district of Rajasthan, Gypsiferous soil 48. oY & b el |, TR Har fyerd
is found? g7
(A) Alwar (B) Jodhpur (A) 37eTaR (B) SirergR
(C) Bikaner (D) Pali (C) fiprR (D) drefr
49. The Janakpura and Kushalpura mines of Tonk 49 Cieh f3Tel & SHABYRT 3R HRATEYRT T+ o714
district are known for the production of - QIS & IeTed =g S Wil ©, 98 & —
(A) Garnet (B) Wollastonite (A) e (B) graiR<IMTSE
(C) Uranium (D) Feldspar (C) A (D) HeAIR
50. East — West corridor does not passes through 50. gg — gf¥ew wTferarT IR & frefalRaa #
which of the following district of Rajasthan? I fba e 9 =8 oRAT g7
(A) Kota (B) Bundi (A) ®rer (B) 4=
(C) Baran (D) Jhalawar (C) g1 (D) STTetrars
51. Which district of Rajasthan receives highest 51. ORI &1 SIFT et siraa arffe aut @t
average annual rainfall? AT AdISd UT BT 87
(A) Udaipur (B) Sirohi (A) ISR (B) RRIET
(C) Jhalawar (D) Baran (C) SrTetTaTS (D) 9=T
52. Maize is the staple food of which tribe of  52. HawT IGRAM P B SIS BT G Ao
Rajasthan? g7
(A) Sahariya (B) Sansi (A) weRar (B) it
(C) Meena (D) Bhil (C) oy (D) e
53. Arrange the following districts of Rajasthan in 53. JoreE @ fAfeIRaa Rttt &1 SR 9 gféor
the correct order from North to South - PT AR Bl HH H FaRed dY —
(i) Sri Ganganagar (i) SRR
(ii) Jalore E (if) SR
(iii) Jodhpur (iii) STrergR
(iv) Bikaner (iv) STHTR
Code - fe —
(A) (ii), (i), (iii), (iv) (B) (i), (i), (iii), (iv) (A) (i), (i), (i), (iv) (B) (i), (i), (iii), (iv)
(C) (i), (iv), (iii), (ii) (D) (ii), (iv), (iii), (i) (©) (i), (iv), (iii), (ii) (D) (ii), (iv), (iii), (i)
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55.

56.

57.

58.

59.

60.

aistrict?

(A) Shakambhari (B) Mansa Mata

(C) Beed (D) Gogelav
Banka — Patti of Rajasthan suffers from the
problem of -

(B) Drought and
Famine

(C) Fluoride (D) Air Pollution

Which of the following crop, is not grown in the

Zaid cropping season in Rajasthan?

(A) Watermelon (B) Muskmelon

(C) Cucumber (D) Soybean

Which is not correct?

(A) Dry Agriculture is practiced in Western
Rajasthan.

(B) Jhuming agriculture in Rajasthan is called
Walara.

(C) Humid Agriculture is practised in South -
Eastern Rajasthan.

(D) Rajasthan is divided into 14 agro-climatic
zones.

(A) Limestone

Which is the first irrigation project in India, in
which sprinkler irrigation system has been
made mandatory?

(A) Indira Gandhi Canal Project

(B) Mahi Bajaj Sagar Project

(C) Chambal Canal Project

(D) Narmada Canal Project

According to Census 2011, what was the Child

Sex Ratio in Rajasthan?

(A) 788 (B) 887

(C) 878 (D) 888

Which of the following facts are true about the

Aravalli Mountain range?

(i) It was formed in Cambrian age.

(i) It is considered residual mountain at
present.

(iii) It is mainly made of Igneous rocks.

55.

56.

57.

58.

59.

60.

(A) MH=TY (B) H=<T HIAT
(C) dre (D) TRTeITT

IO P GidT — Ul fd aaar | aRra
27

(A) TAT—9eR B (B) T 3R BTl B
(C) TARTSS &I (D) ATy Uy HI
f=foRed & 9 &9 W1 B, IoNE H
SE & ArgH H Sdrfed T8l # oIl 87
(A) TR (B) RSt

(C) TH! (D) I

I T IR 87?7

(A) g=p Tl gferdl e H wEfed 2

(B) TR # ST Wl BT Aoy HEd |

(C) ISR # 3fTe Wl &feror—gdl 9RT | bl
ST B |

(D) IISIRATF DI 14 BV FTAarg Uel H qiel
T B |

qRd H, B A yom Riae aRarer g rad
fosha R /varT Ri=g &1 et &
fegr T 27

(A) gfexT 7T 8= aRATSHT
(B) HTET oITol IR GRATSIHT E
(C) T gl 8% URATSTT —a

(D) T &R uRATSTI

SRIOET 2011 & JIJER, o # fRrg
foRTTuTe feharm ofr?

(A) 788 (B) 887

(C) 878 (D) 888

IR gdaHTell & T H f=falRad & 9
P qT I 8?7

(i) ST AT B T | Tarm o |

(i) oA # I8 Safdre ydd & w9 H B
(ili) T8 eI g g o a2

(iv) I8 <ferT — ufdgm | SR — U4 foum 4

(iv) It extends from south —west to north — east ﬁq\—-lﬁ =4
direction. HT —
Code - (A) i AR iv (B) i, ii, iii 3R iv
(A) iii and iv (B) i, ii, iii and iv (©) i 3R iv (D) i 3R ii
(C) iiand iv (D) i andii
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62.

63.

64.

65.

66.

67.

Rajasthan Council of Ministers?

(A) Constitution (95" Amendment) Act, 2009
(B) Constitution (75" Amendment) Act, 1993
(C) Constitution (89" Amendment) Act, 2003
(D) Constitution (91t Amendment) Act, 2003
Which pair is correctly matched about the
Deputy Chief Ministers of Rajasthan?

(A) Shiv Charan Mathur, Tikaram Paliwal

(B) Kamla Beniwal, Sachin Pilot

(C) Hiralal Devpura, Sachin Pilot

(D) Ghanshyam Tiwari, Sachin Pilot

What is the maximum amount of fine, that
Rajasthan State Information Commission can
impose for not providing information?

(A) ¥ 15000 (B) ¥ 20000

(C) T 25000 (D) ¥ 30000

Who among the following was the first woman

Rajya Sabha member from Rajasthan?

(A) Gayatri Devi (B) Sharda Bhargava

(C) Priyanka (D) Sonal Mansingh
Chaturvedi

Which Constitutional Amendment is related to

Who was the first Law Minister of Independent
India?

(A) Maulana Azad (B) J.L. Nehra

(C) Dr. B.R. Ambedkar (D) Vallabh Bhai Patel

Which one of the following pair (Governor of

EWS reservation?
(A) 101
(C) 103

(B) 102
(D) 104

Rajasthan - Former Position) is not correct?
(A) Madan Lal Khurana — C.M. of Delhi

(B) Kalyan Singh — C.M. of U.P.

(C) Ram Naik — Governor of U.P.

(D) Kalraj Mishra — Governor of U.P.

62.

63.

64.

65.

66.

67.

AT DT 87
(A) Gfdem (95a7 e
(B) <ifaer=r (75ai demerd
(C) %fder= (89ai i) srfafgH, 2003

(D) Gfdem= (91af M) 2Tfef=raH, 2003
RIS & SUHETHRE & aR § B9 & S
gHford 272

(A) RraeRor 7R, SIHRM reiTdred

(B) BHT dHIdTel, AlM URIeiC

(C) ERTATE TAYRT, ARIA URIeTe

(D) g e, |9 urgele

RIS 158 G RN, o Tl o W
S fhal IR &1 AT JARINT B
AHdT B?
(A) 15000%

IrfIfa9, 2009
Sy, 1993

—
~—

—~
~

—
~

—
~—

(B) 20000%
(C) 25000% (D) 30000%

=T & O BIF ToReTT B UH AfeelT eIt
e o1?
(A) T <1

(C) friep =gy

DI AT GG F 3. Sg, Q9. 3MRETT |
Hefdra &?

(B) 3IRET WRlq
(D) AT HFRIE

(A) 101 (B) 102

(C) 103 (D) 104

ds YR & YoM fafer J52 I 9
(A) HIAET 3TN (B) SI.UA. FE®

(C) . 3R, rSHT (D) geot¥ WS U

71 H & DI U g (TSR & TSdTed
— U4 Ug) |el el 27

(A) HeTelTel GRIAT — faeell & gegwAl
(B) SeaTor g — STRUSY & JRIHA]

(C) | TSP — ITARYSYT & TSUUTA

(D) Bk AT — STRUSYT & ISguTed
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(A) Chief Minister (B) Tourism Minister (A) FegwA (B) qfe w4
(C) Commissioner, (D) Governor (C) s, - (D) TTITTE
Tourism T
Department
69. Read the following statements - 69. fa=forRad weMT &1 ufeu —
(i) The objective of the Right to Information (i) == ® IOPR IATH, 2005 HT I
Act, 2005 is to bring transparency and e § uneRRfar der SaRerRicg of T |
) accountability in the administratio.n. (i) 31O <R Y 99 areeE B ﬁ—ftﬁ[ oo
(ii) Aruna Roy led the movement, whlch paved R . SN S VN
the way for the enactment of Right to
Information Act. i T 81 T AR R fopa |
Choose the correct code - e qe ﬂﬁ-q -
(A) Only (i) is true (A) Badt (i) 92T ©
(B) Only (ii) is true (B) BaeT (i) e 2 E
(C) Neither (i) nor (ii) is true (C) =T @1 (i) =T 2 (i) 9L & —
(D) Both the statements are true (D) THT HYUF Wl &
70. Under which Article can the Parliament make ~ 70- ¥dg g [l & fAwg R b9 e &
laws on the subjects of the State list? T&d B T Febell o°
(A) Article - 223 (B) Article - 249 (A) 3rgzehe - 223 (B) 3TT0T — 249
(C) Article - 253 (D) Article - 293 (C) areuis — 253 (D) 3rJeus - 293
71. The outlines of Second Five Year Plan was  71- fg<fig voadia o & wuvan fdad g
made by - ERIERIERI
(A) B.N. Gadgil (B) P.C. Mahalanobis (A) oA, TSR (B) Hi =Y. HETIIfaT
(C) V.K.R.V. Rao (D) C.N. Vakil (C) A pRAL @ (D) WA, gD
72. To promote gender equality and economic 72. offfe wAMar iR AR @ onfdie
empowerment of women, Government of AfFTBROT BT d1aT o1 & folU, YRT TRBR
India had set up India’s First Women’s Bank T R &1 Ygall AT db, IR AfRel 9@
called ‘Bharatiya Mahila Bank Limited’. In fafies, am @ <enfua fear o) 9 fhw av
which year it was launched? =g fdar Tar or?
(A) 2012 (B) 1999 (A) 2012 (B) 1999
(C) 2013 (D) 2017 (C) 2013 (D) 2017
73. Inthe defence sector in India, the foreign direct 73. R H e A # wWarferd AN 9 fadeh g
investment limit under the automatic route has faer &1 A1 B geTds fhan ufawd @ e
been increased to what percent? T B?
(A) 51% (B) 49% (A) 51% (B) 49%
(C) 74% (D) 100% (C) 74% (D) 100%
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(C) Commodity Flow (D) Expenditure WA) ST T \B) Trilet 1dE
method method (C) a¥g ware fafar (D) =g fafar
75. Where is the Indian Institute of Sugarcane 75. R T AFI G (S7$TT sIcge
Research situated? 3T PRS- Rd) Hel Rerd 87
(A) Lucknow (B) Kanpur (A) @S (B) BTEIgR
(C) New Delhi (D) Varanasi (C) 53 faoell (D) gRTORT
76. Which among the following is/are the Nodal 76. forforRaa | 9 i, Hifad A I AR] B
Agency for implementing the Monetary Policy? % foru Fred oY 8 /87
(i) State Bank of India (i) TRIT e db
(ii) Union Bank E (ii) Tﬂ%r{l:f CEg
(iii) Reserve Bank of India (iii}) AR Rord §&
(A) Only (i) (B) Only (ii) (A) Bad (i) (B) waat (i)
(©) (i), (ii) & (iii) (D) Only (i) (©) (i), (i) 7 (iii) (D) Bae (iii)
77. Indian Green Revolution was started from 77. R BRT Hifd &I goard fba faeafderery
which University? H gs o
(A) Delhi University  (B) Hyderabad (A) faeell  fawafdene (B) germETe
University Kl faeafaemera &
(C) Kanpur University (D) Pantnagar (C) dR fawafdermerd (D) 4R fadfdenerd
University Kl A
78. The live run of RTGS (Real Time Gross 78. JRASIUHE. (IRAfAd HHI Fhol [UeH
Settlement System) was started in - TUTTeAl) T ATgd X (ST~ Felef) TR=T g3l
(A) 2004 (B) 2002 M- _
(A) 2004 ¥ (B) 2002 #
(©) 2010 (P) 2006 (€) 2010 H (D) 2006
79. Which one among the following agricultural ~ 79- f=foiRad § A SIFET B &7 AR WRBR
sectors is covered under the Market Pl IOTR SEYY AT b I(dId (T
Intervention Scheme (MIS) of Indian 7
Governrr.\ent? (A) . (B) a1y
(A) Horticulture (B) Forestry
(C) Irrigation (D) Animal husbandry (C) =g (D) TggaTer
80. pradhan Mantri Ujjwala Yojana was launched 80. yeTTH ISoTdell ATSTT BT YHRST T —
from -
(A) Jhalawar (B) Ballia (Uttar (A) SICITTS - (RTSTReI) (B) ferar (STruresT) ¥
(Rajasthan) Pradesh) |
(C) Patna (Bihar) (D) Surat (Gujarat) (C) e (fdgR) & (D) ¥RA (ToRm) W
81. vVegetable Centre of Excellence has been  81. IJGRYM # Heoll Ioptedl des @IUd fdbar
established in Rajasthan in - TR -
(A) Udaipur (B) Kota (A) IgIR H (B) ®ieT H
(C) Jaipur (D) Bundi (C) SrgR H (D) g1 #
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(A) development of barren land
(B) rehabilitation of beggars
(C) providing financial assistance to the
poorest families

(D) providing crop insurance

(A) ISR 9 &1 fAHr™

(B) RraTRAT &1 g1ard

(C) {1 N9 uRaRT &1 i werar ya
HRAT

(D) wet T ST PHRIAT

83. Match the district-wise distribution of grant 83. fox7 99 2021—22 @ foIU ORAE & 64 Y
money as recommended by the 6" State faT 3maRT ewNT a@gﬁ%{a g T & RrelaR
Finance Commission of Rajasthan for FY Rrawor &1 e B —

2021-22 = (1) fore uRwe (1) 5%

(1) Zila Parishad (1) 5% i

(2) Panchayat Samiti (11) 20% (2) demre wfAfa (1) 20%

(3) Gram Panchayat (1) 75% (3) UTH gdTAd (1) 75%
Choose the correct option — el fawen ?ﬁ —

(A) (2)-1, (2)-11, (3)-11 (B) (1)-111, (2)-1, (3)-1I (A) (2)-1, (2)-11, (3)-11 (B) (1)-11, (2)-1, (3)-1I
(C) (1)-11, (2)-1, (3)-111 (D) (1)-11, (2)-11, (3)-1 (C) (2)-11, (2)-1, (3)-11 (D) (1)-11, (2)-11, (3)-I

84. Which one of the following point is not 84 ISR ¥ dI9 JAT HRIHA 2006 H FF=IferRaa
included in the Twenty Point Programme 2006 . TR !
in Rajasthan? ' ° ¥ P ﬁ§ T &7
(A) Labour welfare  (B) Support to farmers (A) 518 HITT (B) fmaam™i &1 FEaI
(C) Povert (D) Urban roads :

eradicz!tion (€) e RSOl (D) =Te ws

85. Which one of the following (Irrigation Project - 85. faferRad # & o4 (Rfars uRareH—<eme
Place (District)) is not correctly matched? (Rsrem)) gford =181 57
(A) Bankali—Jalore  (B) Benthali— Baran (A) giell — SR (B) derefll — aRT
(C) Indira lift — (D) Bhimlat — Bundi (C) gfaxr forre — (D) ¥rHeTd — qal

Ganganagar TR

86. |n Rajasthan ‘Mukhyamantri Paryatan Udyog 86. ISR H HrIHAl Uied TN Hadl ATl
Sambal Yojana’ was started in the year- HY GRY Bl T7?

(A) 2018 (B) 2019 (A) 2018 (B) 2019
(C) 2020 (D) 2021 (C) 2020 (D) 2021

87. Indira Mahila Shakti Udaan Scheme is related 87. gfexr wfeem wfdd SsM oW Gdfa
to — g -

(A) Free Sanitary Napkin distribution to girls (A) USSR B dsfhal iR AfZrsll &l
and women of reproductive age qud Afred FufbT &1 faavor

(B) Provide free education to girls of rural (B) ITHIoT &3l T oAbl B Jud e ga
areas BRAT

(C) Provide free Scooty to college girls (C) Biclsl BT TSl BT AT Whe! I BRI

(D) Provide free vocational training to women (D) grioT & BT AR B gud FaAIAD
of rural areas U Ua™ AT
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(C) Tart (D) TSt

(C) Debari (D) Khetri
89. The support price for Jatropha seed as declared 89. ICRIM WRBR ERT AT SIgIBT dIoT &T
by Government of Rajasthan is - RERE] qa g —
(A) ¥ 3.50 per kg (B) ¥8.50 per kg (A) 3.502 yfar fbar. (B) 8.50% ufa fo.am.
(C) ¥ 11.00 per kg (D) ¥ 12.00 per kg (C) 11.00% wfar f.am. (D) 12.002 wftr fa.am.
90. The number of lift canals in Indira Gandhi canal 90. gfaxT el e uRIISHT # forde F&si & dwen
projectis ..ccccoeeieiiiiiiiiineneenn. . L ———————— 2
(A) 5 (®) 7 Bt (A) 5 ®) 7
(C) 8 (D) 9 (O] (D) 9
91. Which institution hosted the ‘World 91. fIeq Haq famr RRER Ao’ BRad (2022)
Sustainable Development Summit’ in February BT Horarl o I gRT B =T oA
Ei?zz)? ®) (A) Hfe marT (B) 31t vd wuTe
NITI Aayog The Energy -and G (é’f‘s‘?ﬂ'l'\’
Resources Institute
(TERI) aME)
(C) ISRO (D) BARC (C) g (D) 1>
92. \Which country’s Prime Minister visited 92. gt & § RIdwR 2022 ®1, fHd <1 & ge=HA
Rajasthan recently, in September 2022? = ORI BT GRT fohar?
(A) Nepal (B) Bhutan (A) FdTe (B) Y™
(C) Bangladesh (D) South Korea (C) qivatTe™ (D) Tfeor HIR=T
93. Which Indian player won the silver medal in 93. g AR RIcArs! ¥ SHA MU dsfHic 2022
German Open Badminton 2022 tournament? gferfrar # Iord uesd Ut faar?
(A) Lakshya Sen (B) Saina Nehwal (A) J&g (B) TS AgdTed
(C) p.v. Sindhu (D) Srikanth Kidambi (C) dra. Ry (D) sfepr fopawa
94. padma Bhushan awardee Abhijit Sen was 94 UGH YUV YWRGR A FHAINT SfASd AT
related to which of the following professions? f=ferRad & 9 fod U1 9 w=fg 97
(A) Medical Science  (B) Literature (A) fafecar fasm (B) |1z
(C) Economics (D) Astronomy (C) 3refem (D) e
95. At present, the Chairperson of Rajasthan 95. goAE H, Yrorend fJuHT 3 \fge ud 91
Legislative Assembly’s Committee on Welfare FRTT Haell GRfy @7 arger § —
of Women and Children, is - A) sio 26 B
(A) Manju Devi (B) Shakuntala Rawat (A) g ) 75
(C) Anita Bhadel (D) Shafia Zubair (C) 3T *1ee (D) wfthar A
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97.

(C) Nihal Chand Goel (D) Pratap Krishna

Lohra
Which of the following cities of India is
recognised as “2021 Tree Cities of the
World”?
(A) Thiruvananthapuram and Bengaluru
(B) Mumbai and Hyderabad
(C) Hyderabad and Udaipur

(D) Pune and Bengaluru

97.

(C) frerel o= e (D) UdTd T Alex]

frrafaRad § 9 wRT @ o= o=l &1 2021
& RIS 3% T des” & ®©Y H A=A <1 TS
4

(A) Rrea=aqRA R 1o
(B) {ag iR TavE

(C) gexmaTE 3R ITIYR

(D) o1 iR e

98. |ndian Railways has announced a partnership 98. YR Yeld A BTl &1 H oy 31E 3.2l =
with which |IIT institute to develop the B gy Wl BITUNCU Rre faefid &
indigenous hyperloop system recently? PT YO PY?

(A) IIT Indore (B) IIT Madras (A) MM .Sl. ek (B) Js.3Me.dl. Ao
(C) 1T Delhi (D) IIT Kharagpur (C) a3z <. facetl (D) a77g.a1g. <l WSIYR

99. e-Mitra at Home (e-Mitra@Home) scheme is 99. 35 e 8 (e-Mitra@Home) TSI BT 4=
initiated in the urban centers of which of the H | P 7l & 2re) &3l 5g o fhar T
following districts? g7
(A) Jaipur and Kota  (B) Kota and Jodhpur (A) SIQR ©d Pier  (B) BT Td SIEYR
(C) Jodhpur and Jaipur (D) Jaipur and Ajmer (C) SR T SR (D) SRIYR Ud 3STR

100. Which country will host the 2026 100. piA-geer =T 2026 BT HOIMT HIF—aT <
Commonwealth Games? PHATT?

(A) Victoria, Australia (B) Sao Paulo, Brazil (A) fageiRa, (B) TR UTSAl, SO
(C) Paris, France (D) New Delhi, India (© IR, i (D) 7€ feeh,

101. A single bus structure is primarily found 101. yrrfyes AR R Ul 99 AT wal grfl Sl
in - g7
(A) Mainframes (A) 754
(B) Super computers (B) YR HrcH
(C) High performance machines (C) S=a WRBHA AN+
(D) Mini and micro computers (D) f=Y 3R HTghT H?FQJQE?%(

102. \Which of the following is a sound file 102. ffeRaT & & &9 AT U 1SS BIsd BIHT
format? g7
(A) LOG files (B) DAT files (A) LOG WIged (B) DAT BIgcd
(C) WAV files (D) DRV files (C) WAV ®wIged (D) DRV WIgcd
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104.

105.

106.

107.

108.

(R) NAV (B) F-Prot

(C) Fedora (D) McAfee

Consider the following statements in context of

MS-Word - 2019 document -

I: Hidden format symbols can be viewed by
pressing ‘Ctrl+Shift+8’.

II: A Line break can be inserted by pressing
‘Ctrl+Enter’.

The valid statement(s) is /are -

(A) Only | (B) Only I

(C) Both land I (D) Neither I norll

Which of the following is an invalid pair?
(A) Impact printers, Daisy wheel printers
(B) Line printers, Drum printers E
(C) Page printers, Laser printers -
(D) 132 column printers, Ink jet printers
Elephantiasis is caused by -

(B) Flatworms

(D) Ascaris

(A) Tapeworms
(C) Filarial worms

Which is the major cause of global warming?
(A) Re-radiation of U.V. rays by Oz and N>
(B) Re-radiation of I.R. rays by O, and N,

(C) Re-radiation of U.V. rays by CO, and H20
(D) Re-radiation of I.R. rays by CO, and H,0

Which of the following contains Lauric acid,
which is used to treat certain infections and is
also used in the manufacturing of soaps and

moisturising creams?

104.

105.

106.

107.

108.

(A) NAV (B) F-Prot
(C) Fedora (D) McAfee

THYE—ds — 2019 SiRgHC & dad § =

Pl W AR N —

l: U BY BiHc sl & ‘Fgla+Rioe+s’
SITHR ST ST el 2 |

II: ‘Beld+Ter’ TIPR Uh dlgd I Yfdwe
HRATIT ST bl ¢ |

Sfod dod 8 /8 —
(A) Hae | (B) Bad i
(C) 1o Il gt (D) FI1AR AT & 1l

=1 9§ 9 o U@ ergfad g 2
(A) gHae U<, Sol—<rd fUd
(B) ars fUed, g0 fU<d

(C) uot fired, oo fied

(D) 132 BieH e, s=h—vic fU=<d
gferpfeaRia frded wrRoT 2T 27
(A) T P (B) 77 P
(C) wrgeRaT HfHA (D) TwbRE

frfaRed & 9 &9 @1 Toi9d arfdT

(TITS A ATUA) BT U RO &7
(A) g, fBRoT &1 0, d N gRT G- faferor

(B) 3ME.3TR. fh_UTl BT 0, F N2 gRT Y- fafdhror

(C) g1 fdxoll @1 CO; 3R H,0 BRI U+
fafeswor

(D) ag.3IR. fRUIl &1 CO, 3R H0 §RT T
fafeswor

frfaRag & @ feud diRe e . g,
TSI SWRT HB FHACN & STl & oy
H oY fopar Siram 27

(A) Butter (B) Mustard Oil (A) Horg= (B) W<} BT T
(C) Olive Ol (D) Coconut Oil (C) SigH &7 Id (D) R¥eT et
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110.

111.

112.

113.

114.

(C) Polysaccharide (D) Poly amino acid

Which of the following is an example of

chemical change?

(A) Softening of vegetable when cooked

(B) Wet soil lamp, when dried gets fragile

(C) Dispersion of white light into the light of 7
colours when passed through a prism

(D) Dissolving of salt in water

What is ‘Vikram — S’?

(A) India’s first privately built rocket.

(B) Newly established Launch Vehicle Control
Center at Shri Harikota.

(C) Recently sent Indian satellite for weather
information.

(D) Launch Vehicle Control Centre established
at NASA.

The most commonly used chemical for artificial
raining or cloud seeding are -

(A) ferrous sulphate  (B) silver iodide

(C) copper sulphate (D) potassium nitrate

What is the approximate height of a
geostationary satellite from the surface of the
earth?

(A) 6000 km (B) 63000 km

(C) 36000 km (D) 42000 km

With reference to Web 3.0, consider the

following statements -

(1) Web 3.0 is based on block chain technology.

(2) Web 3.0 is operated by intergovernmental
panel.

(3) Web 3.0 Technology enables people to
control their own data.

Which of the statements given above are

correct?

110.

111.

112.

113.

114.

(C) ieiaxTsS (D) dfell THMT 3rFet

f=foRed & 9 &9 wafRe gRads &1

JETERT 77

(A) UHIT STM WR Heoll &I ARA B

(B) el Tl 1 U, JEad IR WIR B 1T
g

(C) fUSH A [oRA W FHE UHRI & 7 TN &
gerer ¥ faafia g

(D) e BT U H e E
g — v w7 8?
(A) RT &1 g foohn fAffd dbe |

(B) sft gdrpIer # w19 wfa weqor I g
& |

(C) AreM @1 IMeRI & 8 8 H Aol T
ARG SUTE |

(D) 9T (UAUTHY) # RIfud e ame
=T &g |

METBREA T (M awl) R Tarss

AT & foy Tad e sver far o=

qTel] R § —

(A) BT Aohe (B) iR IAISTSS
(C) PR Hehe (D) ureRrM "gge

g4l B g A Y—ReR IUUT Bl HdIg THT
oo Bl &7

(A) 6000 .. (B) 63000 ..

(C) 36000 f&.#. (D) 42000 f&.H.

99 3.0 (Web 3.0) & T # fA=farRaa wermt

R foar BT —

(1) 99 3.0 =i(® o9 qH-IP TR IMERT ¢ |

(2) a9 3.0 IR—IRGNT Ul gRT AATfrd ¥ |

(3) 99 3.0 TdH1d AN BT U ST bl I
B H FeH 4T 7 |

SR AU Ty Bl § & P T 8°

(A) 1and?2 (B) 2and 3 (A) 1 3% 2 (B) 2 3R 3
(C) 1and 3 (D) 1,2 and 3 (€)1 3R 3 (D) 1,2 3R 3
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116.

117.

118.

119.

(C) Jupiter and Saturn (D) Uranus and
Neptune

In how many years, 380,000 will become

92,610 at 10% per annum interest
compounded half yearly?

(A) 3 years (B) 2 years

(C) 1% years (D) 1 year

The average of 7 numbers is 39 and the average
of 3 of them is 27. The average of other 4
numbers is equal to -

(A) 48 (B) 44

(C) 40 (D) 52

Ratio between present age of Sudhir and
Sanjayis 4 :5. After 5 years, ratio between their
ages will become 5 : 6. Present age of Sudhir
is -

(A) 25 years (B) 24 years

(C) 20 years (D) 18 years

The sum of the perimeters of an equilateral
triangle and a rectangle is 90 cm. The area T, of
the triangle and the area R, of the rectangle
both in square cm, satisfy the relation R = T2, If
the sides of the rectangle are in the ratio 1: 3,

116.

117.

118.

119.

(C) gewufc 3R =i (D) 3750 R g1

fpae aut #, 80,0003 10% dIf¥d <o TR TR
refar¥en =shgfg & 92,6103 &1 SIRAI?

(A) 3 99 (B) 29

©) 159 (D) 1 9%

7 13T T A 39 © 3R 3 | 3 I=maf
BT AT 27 T T S 4 AR B AFI
SRR & —

(A) 48 (B) 44

(© 40 (D) 52

IR 3R GO B IIAM AR BT AU 4: 5
2| dfg af 1% 3@ MY H 31U 5:6 &I
SR | GIR &1 9 3mg § —

(A) 25 Ty (B) 24 Y
(C) 20 a9 (D) 18 a9
U GHaTg Sl Td T AId Bl UiRATd T
AT 90 WAL & | BT &1 &%l T T2 371Id

BT &% R (G a7 AHAL H) T R = T2
BT AT PIA © | AR AT BT YRl B
3T 1:3 &, Tl IR DI TRl oIl DI oHTg

then the length of the longer side of the g —

rectangle, is - (A) 6.4, (B) 944 E
(A) 6 cm (B) 9 cm =
(©) 21 cm (D) 27 cm (©) 21941 (D) 27 4.H1,

120. A two-digit number is such that the product of ~ 120- T S1-3fd] BT AT 39 UHKR © b 9D 3]
its digits is 12. If 36 is added to the given DT %l 12 2| afe & T3 I H 36 ST
number, then digits of given number ST ©, a1 < T3 &7 & 3fh (YT W[
interchange their places. The given number is TRER 9l ofd © | oF TS AT aR_IeR & —
equal to - (A) 43 (B) 34
(A) 43 (B) 34 ©) 62 (D) 26
(C) 62 (D) 26

121. How many triangles are there in the following 121. 9= A W fF A fhae o 27
figure? N\

(A) 12 (B) 14 (A) 12 (B) 14
(C) 15 (D) 16 (€ 15 (D) 16
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123.

124,

125.

126.

have to take the given statements to be true,
even if they seem to be at variance from
commonly known facts. Read the conclusions
and then decide which of the given conclusions
logically follows from the given two
statements.
Statement: All doctors are good.
Some women are doctors.
Conclusion : (1) All good doctors are women.
(I1) Some women are good.
(A) If only conclusion | follows
(B) If only conclusion Il follows
(C) If both conclusions | and Il follow
(D) If neither conclusion | nor 1l follows

A class of boys is standing in only one row. A
boy is at thirty third position from both the
ends in this sequence. How many boys are
there in the class?

(A) 64 (B) 65

(C) 69 (D) 66

Find the missing number —

12 3 16\(7 25\(21
\80( 207 ?

(A) 525 (B) 464

(C) 334 (D) 184

If South-East direction becomes North, North-
East direction becomes West and so on. What
will South direction become?

(A) North-East (B) North-West

(C) South-West (D) North

In a certain code language, if “SOUND” is
written as “ABCSD”, “MINERAL” is written as
“QRSTUVW”, then in the same code language,
“READER” will be written as -

123.

124.

125.

126.

o HMHII Slld dAT H H H~dl Xdd gl |
fawpel @1 ufed fim fvla o &
fspef # dreT /dF I Y difes wT |9

ST BT BT FFARYT B B |
FU : Al Sfaex o 7 |
FB At Sfaex 2 |

forepy @ (1) 9 3D Sidey, Aftard €
(1) {B AR <) & |
(A) afe dadt ey | TR0 HRAT ©

(B) Il daet Freapy 11 AR BT ©

(C) Ife fApy | Y& 11 T STTEROT Rl B
(D) Ffg = a1 fspe |41 B 1l SR IR &
TSPl DI T el U B Ufdd H WSl 2| 39
®HH H U oredl aFl RIRI A ddidd I W
2| Ter # fhaw e &?

(A) 64 (B) 65
(C) 69 (D) 66

IS G=T ST DI —

Y Y

25\(21
?

afe <for-gd feem, SR fRem 9 ot
IR—qd fem, ufeam fa=m 99 9l & iR sl
®mH H et g € ar <feror feem @ 9=
STRRT?

(A) STR—T7d (B) STR—uf¥=m

(C) <fero—uf=H (D) SR

s fga @ W | Al “SOUND” &l
“ABCSD” for@m T 8, “MINERAL” T

“QRSTUVW” T ST &, T 19 dhe ATNT H
“READER” @1 forem SR —

20 207
(A) 525 (B) 464
(C) 334 (D) 184

(A) TUDVUT (B) SFBEFS E (A) TUDVUT (B) SFBEFS
(C) UTVDTU (D) abzcbQ (C) UTVDTU (D) apzcbQ
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128.

129.

130.

(A)

RS
%

(B)

and

X
D
-

In a family of seven people. Scientist is married

(C)

(D)

KoLK XK

to a Teacher and has three sons, one Engineer,
one Doctor and one Actor. The Actor’s wife is a
Dancer and aunt of Sarita. Sarita, the daughter
of Engineer learns Science with his brother
Mahesh. How is Doctor related to Mahesh?

(A) Son

(C) Grand Father

(B) Brother
(D) Paternal Uncle

The next term of the following number series
is -

975, 864, 753, 642, ?

(B) 541

(D) 532

(A) 431
(C) 531

A cube is coloured red on all the faces. It is cut
into 125 smaller cubes of equal size. How many

cubes are coloured on one face only?

128.

129.

130.

(A)

X
%
K
XX
Ko X

7 Ifdaal & b URIR H, AsMe BT fAare
Uh USRI | gall, e dF 9=, uh
SOIfFRR, U Sfdex dal Udh AfHar 2
JFAFAT BT g B! & AT ARAT B A
2| |aRdr, ONRR @ g oo Wi Ry &
are fas= ygd § | Staex &7 729 & ATl a1
T 87

(B)

(©)

(D)

(A) g (B) wT$

(C) graT (D) =r=m

f=faRad Gvaam Aol &1 FTeT Ug & —
975, 864, 753, 642, ? .
(A) 431 (B) 541 E:
(C) 531 (D) 532

TH O @ 9T Adsl BT AT T W I
2] 59 9HM 3MPR & 125 BIC T4l § Prer
SITaT 2 | fhas =91 &1 dad b dag Wl TS
27

(A) 36 (B) 48 (A) 36 (B) 48
(C) 54 (D) 60 (C) 54 (D) 60
1310 @ Page 20 of 24



132.

133.

134.

135.

136.

137.

138.

139.

140.

(B) g — IR’ Td ‘I IUAT | I I 2 |
(C) wriftreRip— ‘Ui’ SUNTT UG ‘3P UAT A I IS ¢ |
(D) 3r9edeT — ‘3 Td U SUHI W I IS ¢ |

7 A ¥ 9 o &1 |i-—fawes o 27

(A) I = 3 + (B) Hifcreass = I + ah

(C) TEXUT = T + & (D) HEISTR = HaT + IAorl

[T 3T ReIfar’ Iaa red @ 9 AdIfad © —

(A) q STet—sTed, § Urad—ure (B) qref | I fFapTetT

(C) TF A | HRT <IN (D) =\ Y W THS 7 Y

IAYE VG—AYE D [ddhed BT Id9 PITY —

(A) g, e, feard, Fecare (B) TS, IMBf=T UlenTol, PHHe,

(C) Uy, Taaifl, ysaferd, | (D) TRIRIE, FRIMHM, ST, JATStadn

| — faUE @ gfte ¥ R fdded gy —
(A) Tgsar — 98 ST Fefell ¥ T@ar o | (B) WUATGR — BE AN e |

(C) fAsi9 — ST %I o9 9 If2d B (D) #HareRl — I8 T IR A 7|
3RVY BT GIRETE] IS &

(A) A (B) arfear

(C) Suaa (D) 9T

=1 % 9 B9 N Frfer ux @ faRwar T8 27

(A) 3 gl g 3rgeda BT AN |Hfed fbar S =mfey | .
(B) rIicrll U= Srwaqel 9 Rrse 9T # g+ =Ry | E:

(C) Uz UmHIRIe g 3MMoihIR® B89 dIfRU |

(D) Uz WIEIAr g yHrardIedmdT ¥ g 84 ey |

AT fIAHA—TH BT T PIRTT —

(A) SFISI—3TS, ASREU—GRIRMA (B) MeA—HEM, IMTS—3TM
(C) wifcre—areaTfeda, sfeR—yaR (D) ToTd—fReTSt, AHA—<aT
ST Aadh B B odl & | Sa aTR § XGifhd g § HH—3T BRP &7
(A) A BRD (B) &H PR®

(C) &g PRb (D) &l HRD

Contempt & Ty e TR oreq BRI —

(A) IqHAT (B) wHfdha

(€) amerE (D) o
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Street theatre in India is a well established ancient art form. Despite the proliferation of modern
means of entertainment and communication, street theatre continues to flourish in India.

Street theatre as a channel of communication has for centuries been propagating reforms by
highlighting social, economic and political issues present in the society. Unlike in the olden days, its
performance is no longer restricted to villages or small localities of the city. Today small groups of
performers including students, would stage performances to mobilize public opinion or to help create
or raise awareness over a particular issue of public importance. Themes on substance abuse, AIDS
awareness and domestic violence are some of the areas highlighted by contemporary street theatre
troupe. Unlike in regular drama street drama employ very little props and images. The human body

becomes the main tool in which choreography, mime, dialogues, songs and slogans are extensively

used.

141. In the olden days, street theatre................. to villages or small localities of the city.
(A) was not restricted (B) was entertained
(C) was restricted (D) was opened

142. \Which of the following word in the passage means ‘regardless’?
(A) restricted (B) despite
(C) mobilize (D) contemporary
143. Which of the following word in the passage is the opposite of ‘stabilization’?
(A) established (B) ancient
(C) reform (D) propagating
144. Fill in the correct article —
..................... sugar is good for our health.
(A) A (B) An ﬁ:
(C) The (D) No article

145. Choose the meaning of the underlined phrase or idiom -

She played ducks and drakes with her money.

(A) lent (B) spent lavishly
(C) did not spend (D) borrowed
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(C) Violent (D) Agitated
147. pick up the correct answer from the given options -
John said, “I waited for Lisa till 10 O’clock”. (Change into Indirect Speech)
(A) John told me that he waited for Lisa till 10 O’clock.
(B) John told me that | had waited for Lisa till 10 O’clock.
(C) John said that he had been waiting for Lisa till 10 O’clock.
(D) John said that he had waited for Lisa till 10 O’clock.
148. Match the sentences with blank spaces in Column (A) with the prepositions listed in Column (B) so

as to frame correct sentences -

Column (A) Column (B)
(Sentences) (Prepositions)
(i) She is grateful.......cccvveveeeerennnnene. her friend for her help. (a) on
(ii) I have got a meeting.........ccvveeee.... Thursday afternoon. (b) with
(iii)  am not satisfied.........ccccceeevennrrreenen. your explanation. (c) for .
(iv) This caris...ccccceeerecvvevenennn. sale, if you are keen to buy it. (d) to &
(A) (i)-d, (ii)-a, (iii)-b, (iv)-c (B) (i)-a, (ii)-c, (iii)-d, (iv)-b
(C) (i)-d, (ii)-c, (iii)-b, (iv)-a (D) (i)-b, (ii)-c, (iii)-d, (iv)-a

149. Choose the correct form of the verb/tense to complete the sentence from the given options -

“The child.....ccoviiiiceeecce e, for the last one hour.”
(A) has been sleeping (B) slept
(C) is sleeping (D) was sleeping

150. Choose the correct option -
The interviewer asked me my name. (Change into Passive Voice)
(A) | had been asked my name by the interviewer.
(B) I have been asked my name by the interviewer.
(C) | was asked my name by the interviewer.

(D) The interviewer had been asked my name by me.
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SR UFAS | &I UlcRll © — qo Ul 3R fgefia ufdy, o-lerr |t wR uRlel ®el Brew 9 yd udiendl IR
UG & QI Uil e B A, wenell W fgdia ufd & e 8l B | died §RT SR UAG @l
el URT I U4 U ST o, fgd Ufd &1 9o U 9 de s A A B AaEHIYad el B
RIeTefl BT | | uieredt fg<i Ul T oo |1 o Wi |
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